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�Ê�a, b, cßW(−a+b+c), (a−b+c), (a+b−c)Ý8FÎÞ9ë\8��¡)
QÎa + b + c�X|&Æ�|ÞNF©w39ë\�ÝÍ�×\�.h¥�9
Íó�a, (a+b+c)−2a, a+b+c−2(−a+b+c), . . .�'d = 2a−b−c�&ÆJ�
9��ßWÝó�
a, a−d, a+d, a−3d, a+5d, a−11d, a+21d, . . .�'Ïn4

a + (−1)nand�&Æ�J�an+1 = 2an + (−1)n�9Î×Í��Ýó.hû
°�	n = 0`�¼P= a1 = −1��P= 2a0 + (−1) = −1�.h2PWñ�
�'n = k`�ak = 2ak−1 + (−1)k−1��Ên = k + 1`�a + (−1)k+1ak+1d =
a + b + c− 2(a + (−1)kakd)�.h(−1)k+1ak+1d = −d− 2(−1)kak�X|ak+1 =
2ak + (−1)k�¬ÎanÎP&Ýó��.hA�dÎ&ë�J9Í��t¡ºß
W×Í�ó�EyßWë��Ý��Ý×ÍÄ6§×f�Î2a = b + c�!
§�2b = c + aÎ×ÍÄ6Ý§×f��9ËÍÐñ]�P�æ½a = bva =
c�X|×ÍÄ6Ý§×f�Î9Íë��Î�\ë���9Î���Ý�v
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